
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(اضرب في قوى العشرة (العدد الناقص

4٫613 × ________ = 46.13 10٫002 × ________ = 100.02

1٫49 × ________ = 14.9 6٫302 × ________ = 63.02

10٫36 × ________ = 10360 1٫559 × ________ = 15.59

9٫114 × ________ = 91.14 3٫255 × ________ = 325.5

4٫687 × ________ = 4687 8٫315 × ________ = 831.5

8٫168 × ________ = 816.8 7٫836 × ________ = 78.36

3٫406 × ________ = 34.06 5٫508 × ________ = 5508

1٫317 × ________ = 1317 7٫309 × ________ = 730.9

5٫852 × ________ = 5852 9٫057 × ________ = 90.57

8٫587 × ________ = 858.7 3٫884 × ________ = 3884
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(اضرب في قوى العشرة (العدد الناقص

4٫613 × 10 = 46.13 10٫002 × 10 = 100.02

1٫49 × 10 = 14.9 6٫302 × 10 = 63.02

10٫36 × 1000 = 10360 1٫559 × 10 = 15.59

9٫114 × 10 = 91.14 3٫255 × 100 = 325.5

4٫687 × 1000 = 4687 8٫315 × 100 = 831.5

8٫168 × 100 = 816.8 7٫836 × 10 = 78.36

3٫406 × 10 = 34.06 5٫508 × 1000 = 5508

1٫317 × 1000 = 1317 7٫309 × 100 = 730.9

5٫852 × 1000 = 5852 9٫057 × 10 = 90.57

8٫587 × 100 = 858.7 3٫884 × 1000 = 3884
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